
Exercise 1 Calc. : ✓
The following diagram is the shape of a big park in Bad Vilbel

1. 8 marksHow many meters of fence is required for the perimeter of the shape?

2. 7 marksFind the area of the park.

Round your answers to one decimal place.

Exercise 2 Calc. : ✓
Das Diagramm zeigt eine große Weide in der Nähe von Bad Vilbel.

1. 8 marksWie viel Meter Zaun wird benötigt, um die Weide außen einzuzäunen?

2. 7 marksBerechne die Fläche der Weide.

Runde alle deine Endergebnisse auf eine Dezimalstelle.


